27 7"7 "0 R, M2 702

"X 29 maintains that it means 7923 - IO AR 0N 29

OVERVIEW

"OX 27 maintains that when the mawn states that if 12> n727 7RI, she is not NIANI
according to °"9; the term N7271 means that there were 7521w 0>7v. Otherwise if
there are no n9y21w 0°7v, only 7IN0IW 0°7Y, the woman is Niaxa. It is not clear what
1s meant by nanXi if there are 77N0IW 2°7¥. Does it mean she is NIX1 (only) if she
claims °n%va1 XY; or is she niX1 (even) if she claims °n%va1 qw>%? mpoin will
address this issue.
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However if she (merely) secluded herself with this person; there were only 7V
77°ND, not 712°va °7y, then 3" would agree that she is believed to say I was bya:
to a "w> for she has a ", that she could have said, I was not mopay’.!

nvoIn asks:
= YNDIND 2INDVIRYN 22) M NPT T YWHINI Y29 NI YINN ON)

And if you will say; but >''1 does not utilize a ¥» concerning the case where the

woman claims ‘I was forced after I was betrothed’. In the case’ where the woman
claims >noiR1 *1n0Xw» and the husband claims NOIRI 7°NOTX X9W 7V, the ruling according to > is
that she is not believed and cannot collect her (full) 721n3. Seemingly she has a 13» there, for she
could have claimed °IX vV nom.? It is on the basis of this »n, that X" 2"7 maintain that she is
nix1 and collects her 7mna.* The fact that *" disagrees proves that he maintains that a W is
insufficient, to believe her. Why is it that here >"7 maintains that if she was (only) 77003, she is
believed to claim °n%ya1 qw>? based on the n, that she could have claimed *n%va1 X?? Why is
this 13» effective and the W» of ¥"1» not effective?!’

Mo0IN answers:
= 9N XY NN NN IN IR NNIT 910 M M1 XY ONNT 9D v»

And one can say that there in the case of *n0IX1 *1n0IXWnH, the claim of y¥ N is

not an ideal 132 for even if she claimed that she is a ¥''2%, nevertheless —
- SpEanna 10T YUINS 5399 NIANI N1N

! See “Thinking it over’ # 1.

23,20 nwn.

? moon will shortly explain what the 132 is.
* See XM on X,10 77 and XX 71"7 2,20 " wA.
> See ‘Thinking it over # 2.

6 x,% 77, in the first mawn.
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She is not believed according to s''2 to collect her 721n> as we learnt in the

qawR; that >"1 maintains that even if she claims *1X ¥"2 she cannot collect her 72102.

mooIN anticipates a question; If ¥"212 is not a believable claim why does the Xni refer to it as a
13°n?! MooIN responds:
7195953 NP NIPY RIAY 399 NIN 1M1 %Y 39 N9

And the claim of ¥">1 is not called a ', like other 137, where if the 2 claim
were used it would be accepted; this is not the case by the claim of ¥"212, rather it

is called a 2 only because it is a better claim; but not that it is a believable claim.® The
claim of *n%y21 X% however is a believable claim; therefore it is an effective 13°n.

SUMMARY

According to *"1 in a case of 77n03, she is believed to claim *n%ya1 w35 with a 1
of >n%va1 X7. This 1 is a believable claim as opposed to the 2 of ¥">m, which is
merely a better (but not a [more] believable) claim.

THINKING IT OVER

1. M9 maintains that according to *0X 27 in a case of 77N01 she is believed to
claim *nby21 7w25.° It is seemingly not clear, from where mpon derives this."
Perhaps *0X 27 merely maintains that by 77001, she is believed to claim >n%y21 X;
but not °n5va1 qwoY (because this 13°1 is not effective)?

2. Mmoo asks what is the difference between the 2 of *IX ¥"21 and the wa of XY
noya1.'! Seemingly there is a distinct difference; the w2 of 21X ¥"2% is being used
to extract money from the 5¥3, therefore >3 maintains that a 1R X2 X°X177 W,
However the 1 of °n%vya1 X7 is concerning (only) (717137) MO°X, therefore "
maintains that it is an effective wn."

" See X9X 17"72,2° *"wA, that when a woman claims *NDIX3 *IN0IXWA she becomes A17735 79109; however if she claims
"IR Y"1, then she remains 7117737 7w, A 1772 is 70K to marry an (710°X2) 70K, but not a ¥"5n.

¥ See “Thinking it over’ # 3.

? See footnote # 1.

10 See x"wAmn.

1 See footnote # 5.

12 See w"wn ,n"w 0" and "5 MR 7"370.
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3. M901N maintains that the claim of ¥"21 is not a believable claim (according to
»"9) and the reason the X713 refers to it as a n is because it is a W2 7Wwn mww.
Seemingly when the &1n3 refers to ¥"2m as a 1, it is discussing the opinions of
X" 3"7. However, they maintain that ¥"3% is believed!"> noomn should have
(merely) said that according to °"9 the ¥"2m claim is not believable.

13 See footnote # 8.
X, A7
58,0 ('x7) mwn.
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